B Appendix B: NET_CON Source Code

NET_CON. CPP

* LSA1000 Sanpl e Network Connection
* Copyright (c) 1998 LeCroy Corporation
* Witten By: Ricardo Pal acio

* April, 1998

* $Header: $
* $Log: $

*/

#i ncl ude <wi ndows. h>
#i ncl ude <wi nsock. h>
#i ncl ude <stdio. h>
#i nclude <tinme. h>

#i nclude "net_con. h"

static int hSocket ;

static int sTi meout = 3;

static int sW nsockl nit Fl ag = FALSE;
static char sCurrent Addr ess[ 256] ;
static int sConnect edFl ag = FALSE;
#define CMD_BUF_LEN 8192

static char sCommandBuf f er [ CMD_BUF_LEN] ;

int TCP_Connect(char *ip_address)

{
SOCKADDR_I N server Addr;



int sockAddrSi ze = sizeof (SOCKADDR),
WORD wVer si onRequest ed,;

WSADATA wsaDat a;

const int resp = 1;

char tnpStr[512];

fd_set w_set = {1, {0}};

TI MEVAL tval;

unsi gned | ong argp;

if (sConnectedFl ag==TRUE)
return -1;

result;

strcpy(sCurrent Address, ip_address);

tval .tv_sec = sTi nmeout;
tval .tv_usec = 0;

if (!sWnsocklnitFlag)
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{
wVer si onRequest ed = MAKEWORD( 1,
i f (WBAStartup(wWersi onRequest ed, &wsabDat a)
{
MessageBox(0, "Unable to initialize the Wndows socket environnent.", "ERROR",
MB_OK) ;
return -1;
}
sW nsockl nit Fl ag = TRUE;
}

/* build server socket address */

server Addr.sin_fam |y = AF_I NET;

server Addr.sin_port = htons (SERVER_PORT);

if ((serverAddr.sin_addr.s_addr

{
MessageBox(0, "Bad server
return -1;

}

/* create client's socket */

= inet_addr (i p_address))

address”,

"ERROR", MB_OK);

== -1)
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if ((hSocket =

{
MessageBox (0,

return -1;

socket (AF_I NET, SOCK_STREAM 0)) ==

"Unable to create client's socket.",

| NVALI D_SOCKET)

"ERROR", MB_OK):

}
if (setsockopt(hSocket, |PPROTO TCP, TCP_NODELAY, (char*)&resp, sizeof(resp))
1= 0)
{
MessageBox(0, "Unable to set socket option to TCP_NODELAY", "ERROR",
MB_CK) ;
return -1;
}
wr _set.fd_array[0] = hSocket;
argp = 1;//non bl ocki ng node
i octl socket (hSocket, FIONBIO, &argp);
connect (hSocket, (SOCKADDR FAR *) &server Addr, sockAddrSi ze);
result = select(hSocket, NULL, &wr_set, NULL, &tval);
argp = 0;//bl ocking node
i octl socket (hSocket, FIONBIO, &argp);
/* connect to server (scope) */
if (result < 1)
{
sprintf(tnpStr, "Unable to make connection to |P: %", ip_address);

MessageBox( 0,
return -1;

tmpStr,

}

sConnect edFl ag = TRUE;

return O;

“TI MEOUT", MB_CK);



int TCP_Di sconnect (void)

{

if (sConnectedFlag != TRUE)

return -1;

cl osesocket (hSocket);
sConnect edFl ag = FALSE;

return O;

}

int TCP_WiteDevice(char

{

TCP_HEADER header;

int result, bytes_nore,

char *idxPtr;

*puf,

int

i f (sConnectedFlag != TRUE)

return -1;

if (len < CMD_BUF_LEN)

st rcpy(sCommandBuf f er,

/'l set the header info
DATA_FLAG,
header. bEO _Flag | = (eoi _flag)? EO _FLAG O0;

header. bEO _Fl ag =

header.reserved[ 0]
header.reserved[ 1]
header. reserved[ 2]

header.iLength = htonl (len);

/Il write the header

1;
0;
0;

first

| en,

BOOL eoi

bytes_xferd;

buf) ;

_flag)
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if (send(hSocket, (char *) &header, sizeof( TCP_HEADER), 0) !=
si zeof ( TCP_HEADER) )

MessageBox(0, "Unable to send header info to the server.", "ERROR',
MB_OK) ;
return -1;
}
bytes_more = | en;
i dxPtr = buf;
bytes_xferd = 0;
while (1)
{

/1l then write the rest of the bl ock
idxPtr = buf + bytes_xferd;

if ((result = send(hSocket, (char *)
{

idxPtr, bytes_nore, 0)) < 0)

MessageBox(0, "Unable to send data to the server.", "ERROR",
MB_OK) ;
return -1;
}
bytes_xferd += result;
bytes_more -= result;
if (bytes_nore <= 0)
br eak;
}
return O;
}

int TCP_Cl ear Devi ce(voi d)

{

if (sConnectedFlag != TRUE)

return -1;
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TCP_Di sconnect () ;
TCP_Connect (sCurrent Addr ess) ;
return O;

int TCP_ReadDevi ce(char *buf, int len, int *recv_count)

{
TCP_HEADER header;

char tnmpStr[512];

int result, accum space_left, bytes_nore, buf_count;
char *idxPtr;

fd_set rd_set = {1, {0}};

TI MEVAL tval;

i f (sConnectedFlag != TRUE)
return -1;

*recv_count = 0;

i f (buf==NULL)
return -1;

rd_set.fd_array[0] = hSocket;
tval .tv_sec = sTi nmeout;
tval .tv_usec = 0;

menset (buf, 0, len);
buf _count = O0;
space_left = len;

while (1)
{

/1 block here until data is received of timeout expires
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if ((result =
< 0)

MessageBox( 0,

I en);
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result = select(hSocket, & d_set, NULL, NULL, &tval);
if (result < 1)

{
TCP_Cl ear Devi ce();
MessageBox(0, sCommandBuffer, "Read timeout", MB_OK);
return -1;

}

/1 get the header info first

accum = 0;

while (1)

{

menset (&header, 0, sizeof (TCP_HEADER));
recv(hSocket, (char *) &header + accum sizeof(header) - accum 0))

{
TCP_Cl ear Devi ce();

"Unable to receive header info fromthe server.", "ERROR', MB_OK);
return -1;

}

accum += result;
i f (accunp=si zeof (header))
br eak;

}

header.i Length = ntohl (header.iLength);
if (header.ilLength < 1)
return O;

/1 only read to | en anount
if (header.ilLength > space_left)

{
header.i Length = space_left;
sprintf(tnpStr, "Read buffer size (%l bytes) is too small",
MessageBox(0, tnmpStr, "ERROR', MB_OK);

}

/1l read the rest of the block

accum = 0O;

while (1)

{

idxPtr = buf + (buf_count + accum;
bytes_more = header.ilength - accum
if ((space_left-accum < TCP_M N MUM_PACKET_SI ZE)
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{
TCP_Cl ear Devi ce();

sprintf(tnmpStr, "Read buffer needs to be adjusted, nmust be m ninum of % bytes",
TCP_M NI MUM_PACKET_SI ZE) ;

MessageBox(0, tnmpStr, "ERROR', MB_OK);

return -1;

}

if ((result = recv(hSocket, (char *) idxPtr, (bytes_nore>2048)?2048: bytes_nore,
0)) < 0)
{
TCP_Cl ear Devi ce();
MessageBox(0, "Unable to receive data fromthe server.", "ERROR', MB_OK);
return -1;

}

accum += result;
if (accum >= header.iLength)

br eak;
if ((accum + buf_count) >= |en)
br eak;
}
buf _count += accum
space_l eft -= accum

if (header.bEO _Flag & EO _FLAG
br eak;

if (space_left <= 0)
br eak;

}
*recv_count = buf_count;

return O;

int TCP_Set Ti meout (i nt seconds)

{



sTi meout seconds;

return O;

int char

{

mai n(i nt argc, *argv[])

char replyBuf[512];
int read;

if (argc < 2)

{
printf("\ nEXAMPLE:
return O;

(TCP_Connect (argv[1]))
return O;

if (TCP_WiteDevice("*idn?\n",

{
TCP_Di sconnect () ;

return O;

if (TCP_ReadDevice(replyBuf,

{
TCP_Di sconnect () ;
return O;

}

if (TCP_Di sconnect())
return O;
printf("Scope's reply: %s\n",

return O;
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net _con 172.28.11.22\n");

6, TRUE))

512, &read))

repl yBuf);



#def i
#def i
#def i
#def i
#def i
#def i

#def i

#def i

ne
ne
ne
ne
ne
ne

ne

ne

typedef

{

#defi ne SERVER PORT

EO _FLAG 0x01
SRQ_FLAG 0x08
CLEAR_FLAG 0x10
LOCKOUT_FLAG 0x20
REMOTE_FLAG 0x40
DATA_FLAG 0x80
READ_TI ME_OUT
TCP_M NI MUM_PACKET_SI ZE 64
struct

unsi gned char bEQO _Fl ag;

unsi gned char reserved[ 3];

i nt i Lengt h;

} TCP_HEADER;
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